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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  You might not be thinking about cholesterol yet, but high levels of cholesterol increase

YOUP ===ememee of heart disease, so find out what your level is now.
1) risk 2) level 3) strength 4) exposure

2-  With the ——----- of the Internet, working from home has become a real phenomenon.
1) demonstration 2) credibility 3) advent 4) dexterity

3-  The teacher was gratified to see two older students ---—- to settle the playground
dispute between a number of third and fourth graders.
1) raise 2) encourage 3) promote 4) intervene

4-  Even though the unemployment rate continues to ———, voters are still unhappy with
the president’s economic plan,
1) restore 2) abandon 3) abate 4) delay

5-  Her maudlin display of tears at work did not impress her new boss, who felt she should
try to control her ---—----- ‘
1) emotions 2) secrets 3) errors 4) restrictions

6-  The heavy rain did not —--—---— -, 50 they cancelled their camping trip.
1) emerge 2) evaporate 3) subside 4) collapse

7-  Whitney is --—---—- about her shoes, arranging them on a shelf in a specific order, each
pair evenly spaced.
1) spectacular 2) fastidious 3) conscientious 4) conventional

8 This agreement is very ------—- and open to various interpretations.
1} intentional 2) diverse 3) superficial 4) ambiguous

9-  Because our instructor was so unclear, 1 had to continually ask him to -——---- and
repeat what he was saying,
1) justify 2) clanfy 3) emerge 4) improvise

10- Because of the chef’s ---—-- cooking style, his food is easily identified in a taste test.
1) experimental 2) flexible 3) distinct 4) constant

PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet,

Remembering the past is an integral part of human existence. Without a good memory,
vou would not be able to drive to work, hold a meaningful conversation with your

children, (11) ===--=e-- a book or prepare a meal.

Memory has fascinated humans since (12) ---—----- . Plato famously compared our
memory to a wax tablet that 15 blank at birth (13) -—----—-- on the impression of the
events from our life. Only in the past hundred vears, though, (14) -=-—-—- systematic

objective techniques that have enabled us to study our recollections of the past with
scientific accuracy and reproducibility. These range from laboratory tests of our ability
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to remember verbal and visual materials (15) ------—-- more recent brain-imaging
approaches.
11- 1) then read 2) reading 3) to read 4) read
12- 1)ancient imes 2) ancient time 3) time of ancient  4) tumes of ancient
13- 1)slowing taking  2) to slowly take 3) and slowly takes 4) that slowly takes
14- 1) psychologists have developed 2) have psychologists developed
3} with psychologists developing 4y for psychologists to develop
15- 1) with 2) from 3)in 4)to

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

chaeice (1), (2). (3), or (4). Then mark the correci choice on your answer sheet

PASSAGE I:

Effective ocean governance requires not only regional and imternational cooperation
but also effective management by coastal states throughout their own zones of
maritime jurisdiction. Ensuring that sovereignty and sovereign rights at sea are reliably
enforced has become a leading national security concern for all coastal states,
particularly since the expansion of coastal state jurisdiction enshrined in the Law of
the Sea Convention (LOSC); and, in particular, the promulgation of the regime of the
exclusive economic zone (EEZ). The concept of the archipelagic state also was a novel
aspect of the Convention, with particular national importance for Indonesia and the
Philippines. as well as for regional and other significant maritime user states. To some
degree, the international political legitimacy of coastal state claims to the full range of
maritime zones allowed under the Convention depends on their ability to enforce that
jurisdiction and uphold coastal state responsibilities and to be seen to be doing so in an
effective manner over time.

Pressure grew steadily on coastal states in the post-War decades to claim increasing
and exclusive jurisdiction over adjacent sea areas, leading to a number of high profile
disputes and crises, particularly over access to fisheries, Once the EEZ regime had
been agreed and states began to claim the maximum jurisdiction allowable of an
exclusive economic zone stretching to a distance of 200 nautical miles seaward of sea
baselines, the enforcement problem for coastal states actually became more difficult
rather than easier, as states were forced to pay far greater attention to, and expend
grater resources upon, the requirements of surveillance of their respective offshore
estates. Growing demand for o1l and a political need 1in many petroleum 1mport-
dependent states to reduce that dependence following the oil shocks of the 1970s and
early 1980s—often in the name of national "energy security"—also led coastal states to
explore their offshore estates as at least part of the solution.
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16-

17-

19-

According to the passage, effective ocean governance —-—--————- A

1) is in its infancy

2} relies on both national and intermational security

3) varies from reglin to region

4) 15 highly collaborative

The passage suggests that LOSC -———--- A

1) establishes guidelines for managing marine natural resources

2) has brought about a revolution in the way sovereignty rights are enforced
3) came into force to keep coastal states from worrying fisheries

4) has made maritime jurisdiction a serious 1ssue for offshore governments
The author mentions Indonesia and the Philippines in paragraph 1 to ——---— —
1) include Asian countries in the discussion

2) demonstrate that LOSC assigned a high priority to archipelagos

3) argue that LOSC had significance for island countries

4) emphasize the problems of archipelagic states

The word "uphold" in paragraph 1 is closest in meaning (0 —-———---- 5

1) fulfill 2) approve 3) discover 4) handle
According to paragraph 2, how did the EEZ regime affect coastal states?

1) It was easier to provide maritime border protection.

2) They had to monitor their areas of water more rigorously.

3) They began to claim jurisdiction over mainland.

4) It established a framework for peaceful international relations at sea.

PASSA GF i

Unmanned aerial vehicles (UAVs) have been around much longer than most people
realize. During World War [ (WWI), both the Navy and the Army experimented with
aerial torpedoes and flying bombs. Some of the most brilliant minds of the day were
called on to develop systems to be used against U-boats and to break the stalemate
caused by nearly 4 years of trench warfare. Efforts consisted of combining wood and
fabric airframes with either gyroscope or propeller revolution counters to carry
payloads of almost 200 pounds of explosives a distance of approximately 40 miles.
Hostilities ceased before either could be undertaken. These WWI UAVs highlighted
two operational problems: crews had difficulty launching and recovering the UAVs,
and they had difficulty stabilizing them during flight. During the Interwar Period, radio
and improved amcraft engineering allowed UAV developers to enhance their
technologies, but most efforts failed. Despite failures, limited development continued,
and after UAVs successfully performed as target drones in naval exercises, efforts
were renewed in radio-controlled weapons delivery platforms. World War 11 (WWII)
saw the continued use of target drones for anti-air gunnery practice. Additionally,
radio-controlled drones were used by both the Allied and Axis powers as weapons
delivery platforms and radio-controlled gliding bombs.

With the start of the Cold War, UAVs began to be used as intelligence, surveillance,
reconnaissance (ISR) systems, with limited success as weapons delivery platforms.
Development continued throughout the Vietnam War, but interest soon waned. The
1991 Gulf War renewed interest in UAVs, and by the time the Balkans Conflict began,
military intelligence personnel were regularly incorporating UAV ISR information
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21-

22-

24-

into their analyses. Currently, UAVs effectively provide users with real-time ISR
information. Additionally, if the ISR information can be quickly understood and
locations geo-registered, unmanned combat aerial vehicles (UCAVs) can be used to
strike time-sensitive targets with air-to-surface weapons.

What is the main topic of the passage?
1) The advent of UAVS 2) Different classes of UAVS
3) A controversy over UAY use 4y How UAVS are made
The anthor mentions U-boats in paragraph 1 to ---------- --.
1) provide an example of a naval warfare equipment used m WWI
2) suggest that they competed directly with aerial torpedoes
3) show they stimulated the demand for the development of UAVS
4) demonstrate that countries engaged in warfare preferred UAVS to them
According to the passage, what put a stop to experiments with UAVs during WWI?
1} There was not enough wood and fabric for airframes,
2) The cost and risk cut private investment.
3) There were insufficient numbers of people to operate them.
4) The enmity between countries did not last.
Which of the following can be inferred about radio-controlled drones?
1} They were used in WWII because they ensured victory.
2) Their roots go back to the Interwar period.
3) The Alhed and Axis powers supported experiments with them.
4) They failed to respond to control signals while being tested.
The passage states that a change in the function of UAVS took place in —----=--- :

1) the Cold War 2) the Balkans Conflict
3) World War 1 4) the Vietnam War
PASSAGE 3:

The power of information technology (IT) to provide firms with competitive
advantages was an unchallenged assumption for information systems (1S) research and
practice until recently, when Nicholas Carr's assertion that "IT Doesn't Matter" gave
rise to much controversy. Carr argues that IT has decreased i price as much as it has
increased in capacity and presence. Now, IT is ubiquitous and accessible to all firms
and hence should be viewed as a commodity. Accordingly, IT cannot provide
competitive advantage to any single player because it lacks scarcity as a precondition
of supernormal rents. Instead, Carr views IT as an mfrastructure technology such as
railroad and telegraphs, whose benefits are also accessible to anyone and hence do not
provide competitive advantage. Carr's argument 15 supported by the fact that not all
competitive uses of IT that had originally been published as success stories made the
employing firms "sustained winners." Admittedly, empincal evidence for the success
of strategic 1T investments is relatively weak compared to the theoretical indications at
hand. This lack of support 15 partly due to measurement problems.

However, there are a number of empirical findings that support the assumption that
strategic investments in [T have had a positive effect on firm value and on financial
performance. Therefore, a number of authors have contradicted Carr's provocative
claim, primarily arguing against his narrow conception of IT. [A] Carr draws analogies
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to physical infrastructures such as road and rail networks and hence looks upon IT as
something physical. [B]Building on such a notion of IT, Carr's claim becomes a
pseudo-contradiction to current wisdom on IT and competitive advantage. It 15 well
accepted that not the physical artifact 1s causal for sustainable competitive advantages
but the way I'T is applied within the organization. [C]This lesson can be learned from
the DCV which highlights the need for continuous learning. [D]

26- Carr would be most likely to agree with all of the following EXCEPT ----—-——-- .
1) the presence of I'T cannot be positively correlated with its price
2} it does not guarantee long-term success of a company
3) it can be compared to infrastructures
4) companies must invest in I'T in that 1t brings a high return
27-  According to the passage, Carr's statement about 1T is -—————----—,
1) farrly understandable 2) based on empirical evidence
3} 15 not without its detractors 4) not very important
28- Carr argues IT cannot provide firms with competitive advantages because --------—--- "
1)1t 15 a common feature of them
2) the number of firms that use it 1s increasing fast
3) today's firms are obsessed with thechnology
4) there are other contributing factors to competitiveness
29- "A npumber of authors" in paragraph 2 are mentioned as —----———,
1) computer experts with a new conception of IT
2) proponents of an idea that Carr tends to foster
3) opponents of an idea that Carr thinks 1s correct
4) supporters of the application of I'T in various fields
30- Where would the following sentence best fit into the passage?
Hence, a competitive use of IT requires keeping track of IT developmenis and being able to
deploy IT in unigue ways.

H[C] 2) [A] 3)[B] 4)[D]
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